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External Solver Messages \

sum of previous increments=3.760135e+01 2
actual step time=1.000000e+02

actual total time=1.000000e+02

iteration 1

Using up to & cpu(s) for the stress calculation.

Using up to & cpu(s) for the symetric stiffness/mass contributions.

Factoring the system of equations using the symecric spooles solver
Using up to & cpu(s) for spooles.

Using up to & cpu(s) for the stress calculation.
average force= 0.012438

time avg. forc= 10.485421

largest residual force= 0.125824 in node 4236 and dof 1
largest increment of disp- 3.293374e-03

largest correction to disp= 5.551606e-05 in node 2137 and dof 3
no convergence

iteration 2

Using up to & cpu(s) for the symetric stiffness/mass contributions.

Factoring the system of equations using the symecric spooles solver
Using up to & cpu(s) for spooles.

Using up to & cpu(s) for the stress calculation.
average force= 0.005505

time avg. forc= 10.485179

largest residual force= 0.000117 in node 1036 and dof 2

largest increment of disp- 3.293374e-03

largest correction to disp= 1.671512e-06 in node 2137 and dof 2

convergence; the increment size is increased to 3.597972e400

the increment size excesds the remainder of the step and is decreased to 0.000000e+00

Using up to & cpu(s) for the stress calculation.

Job finished

Close.





